8. ZXOEALHABDED

@ x2+7x=0

@ x*—10x+25=0
BIE 3 (x2—8)=(x—8)(x+2)E@BEET),
<ZEZB> BEBLUT ax?+bx+tcec=00FEDL3,
3(x2—8) =(x—8)(x+2) <—EBEITD
3x?2—24=x*—-6x—16 —~RIBEITD ® x2—3x+2=0 ® x2—6x—16=0
2x2+6x—8=0 ~—@A2ThHD
x2+3x—4=0 — R DR
(x+4)(x—1) =0 ~BERDHD
k2T =l 4
BB >ROZRIEEBAZHRETZT), T8 ZLo>NDECS | @D 6x2+3x=0
DO (x+1)(x—2)=3x—5 @ x(9—x)=20

2x24+4x—6=0

ROPDEBAZERERBRSV, (FF BELUT ax*+bx+c=0DEZ2D<D)
x?=2x—1 @ x*=—x

S o

<gEBEE>

1. REOBZANE LT, ROPDEANEEREIBISL),

O (x—2)(x+7)=0 @ (x+3)(x—9)=0

® 3x+10=x? @ x(x+4)=5

2. RO[DEBAZWMERL),

D x2+8x+12=0 ® x2—x—20=0

® (x—3)(x—7)=5 ® x2—4x+6=2(x—1)



